
Product.: Lang

1. Seite
Belső használatra !

K4582 Molto

6

7

3490-002A

1982-019

2001-065
M8x25 Hlf csavar

M8 Hl anya

2001-180
M6x10 Hf bkny csavar

1 8400-304

13 4911-088A

9 9900-1200

9900-1204A8

II.

10

11

6536-017

7911-932B

M6x25 Hlf csavar
2001-046

M6 Acél alátét
2003-005

2002-007

I.

III.

2001-017
M5x8 Sf csavar

M5x6 Bkny
 hernyócsavar

2001-015

12

III.

5025-199

5135-002A5

4

I.

M5x15 Hernyócsavar

5131-001B

2 6536-001A

2001-015

II.

3

4

5

6536-002A

M5x6 Hernyócsavar
2001-015

5135-002A

5131-001B



Product.: Lang

2. Seite
Belső használatra !

20

17
5011-169

19 1982-023

215540-249
1982-001

20 1982-004

6611-199 2003-003
M5 Alátét

30

175011-169

1982-023 19

5011-325

5311-642A

5600-242

16

24

14

22

235311-641
2002-003
M5 Hl anya

K4582 Molto

155035-197

2003-032 18

1982-004



Product.: Lang

3. Seite
Belső használatra !

28

29

25

5490-081B

1. 6.

Reihenfolge:

3.

6.

2.

6088-80326

5.

4. 27

30 1982-001

1.

Feuerraumauskleidung
(9900-1329)

6088-803            2 Stück
6088-804            1 Stück
6088-805            1 Stück
6088-827            1 Stück

K4582 Molto

6088-804

6088-805

6088-827



Product.: Lang

Belső használatra !

K4582 Molto
4. Seite

31

1982-019

M8 Hl anya

M8x16 Hlf csavar
2001-062

2002-007

33

3490-002A6

M8x25 Hlf csavar
2001-065

1982-0197

324111-001

M8 Hl anya
2002-007

4111-002


